N of reco track vs dxy N of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

2] 1%} [%] (%]
X prtrysemmeesesssesssameee X X X
Q Q [} Q
g g g g
£ . 3 s
10? E 8 810
=
>
°
10 1072
ht 107
Qv
3
o [24 [24
b o h a2 01 R B 4 Ot I bR R | B 1 SR * kB R 0.5
0955 10 15 2 05 =15 =10 =5 0 0 15 20 086 -i5-10 5 0 5 10 15 20 20 -i5-i0 5 0 5 10 15 20
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
[N of associated (recoToSim) tracks vs dz_] [ of associated (recoTosim) looper tracks vs dz_|
1%} 1%} (%]
x X X
Q [} Q
g g g
E 2 s
£ 10? 8 8107
=
10 3
10F::rszraasiaskesseatbaznzzrznzzzsd [ooUEUTTETIEERET 48 oD T
1 Ay 2
: 1 : b B
| : z e} 4 M - - = -
o aw o i j ; 5w 3 °
: || T e I O e
24 [h4 o 14 [h4
I L T P 1 e LA T
9% 20 -10 0 10 20 30 0¥ 20 10 0 10 20 30 09530 20 20 30 85520 -0 0 10 20 30

track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


